HSC 2001 - Biology

Question 10
Question 10
10 The diagram represents one pair of homologous chromosomes during meiosis.
Crossing-over occurs and random segregation takes place.
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What genotypes are produced?
(A) ABG, abG, ABg, abg
(B) ABG, aBG, Abg, abg
(C) ABG, ABG, abg, abg
(D) ABG, aBg, Abg, abg
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 47.3 59.1 76.7 92 96.2
B 11.8 11.8 8.2 1.8 1.6
Cc 26.4 18.1 7.9 3 1.1
D 13.6 10.7 71 3.2 1.1
N 0.9 0.3 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the

borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to

identify: No valid response.
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